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PREVIEW QUESTION BANK(Dual)

Module Name : Physical Education
Exam Date : 13-Jun-2023  Batch : 09:00-12:00

Sr. || Client Question . . Negativ
No. D Question Body and Alternatives Marks Marks

Objective Question

101 147101 The most widely used criteria to measure obesity are 20 0.00

A. Body weight

B. Skinfold thickness
C. Waist circumference
D. Bone density

E. Muscle biopsy

Choose the most appropriate answer from the options given below :

I
2

3
4.

REAMHIIH &g a119® oAI9% £ I WK §i- aldl AHUS 6 -

A. SRR D1 a9

B. @diaeH ((Rp1pics) Hicl
C. PR URIY

D. 3R T8 (47c)

E. Uit srare

Hid feu U fadedi O U TEl 3Tk &1 984 Dl

1. $dd B.C.D
2. PAAA. B, C
3.%ad C.D.E
4. AT A.D,E

Al

A2

A3

A4

Objective Question
102 47102 2.0 0.00
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What are the causes of water pollution?

A. Physical Pollutants

B. Sewage

C. Industrial and Trade Wastage

D. Agricultural and Related Activities
E. Noise Pollution

Choose the correct answer from the options given below :

.A.B.D.E only
.A.B.C.E only
.B.C.D.E only
.A.B.C.D only

SE-UENU & HH-9 PRP © 2

1
2
3
4

A Yif® Tgus

B. TeTeTdl (FTeT )

C. e ud amie safky
D. PV T4 Jafdd fohan semg
E. @1 Tguu

A= QU T fas el O ¥ 969 9Ugdd GOk B 994 Bifol |

1. $ad A, B.D.E
2. $AdA.B.C.E
3.%adB,C.D.E
4. $GAA.B.C.D

:Al
52
63
{\4

Objective Question

103 47103 2.0 0.00

Which of the following factors that affect response speed?
A. Strength and Power
B. Visual acuity
C. Neural response
D. Food habits

Choose the correct answer from the options given below :

.B.C.D only
.D.A. Conly
.C.D only

.A.B.Conly

o =

o

file:///C:/Users/Administrator/Downloads/58_Live_PhyEdu_B1_E/58_Live_PhyEdu_B1_E_101-150.html 2/46



6/13/23, 6:46 PM 58_Live_PhyEdu_B1_E_101-150.html

PR § § P19 PR o Sfear TR S ufRd xa 8 2
A, ol od R

B. £ Ydl&ordl
C. TADIY 3ifehar
D. @ 3fiad

i 4T T fas eyl § 9 U8l 9Tk BT 99 Bifer |

1.%dd B, C.D
2. %G D, A, C
3.%4d C, D

4. Pdd A, B, C

:Al
A2
A3
A4

Objective Question

104 47104 2.0 0.00

Proponents of overloading suggest which of the following ways to increase
strength?

A. Maximum load to exhaustion. inducing strength gains
B. Submaximal loads to exhaustion. inducing hypertrophy
C. Moderate load to exhaustion, inducing power

D. Low loads to exhaustion, inducing endurance

Choose the correct answer from the options given below :

A, Conly
.B. C only
.B.D only
.A. Bonly

HIRGT & ufaurgest = wigdl § gfe g1 Fafafad fb aldiel &1 g faar

W%
-3
Pl e

A. UR¥ifa 8 3ifUdad YR, Helgdicisdl ®f URd - arel|
B. UR¥ifd 8q 9U-3I8 4R, 3ifdgla & URd &= arl

C. gRHifd 8 GHAUR, Wi IRD

D. UR¥ifd §q ®H YR, RITMUd IR

13U T f[ad el § T Ul 3wk &1 94U Siforg|

1.Pad A, C
2. HAuB.C
3. A B.D
4. DAU A. B

Aty

1
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A2
A3
A4

Objective Question

105 147105 Which is the value of X in Binomial expansion? 20 0.00

(H+TP=H’+9H}+36 H T+ 84 HOT? + X H'T* + X H'T° + 84 H'T® + 36
HT? + 9HT® + T?

126
12
.108
.148
fame fAeR & X ST HH T g 2
H+TY =H’ + 9B + 36 H'T? + 84 HOT? + X H3T* + X HT> + 84 H3T% + 36
H2T' + oHT® + T®

b =

T

126
112
108
148

J -

oS Ve

Al

—_

A2

A3

A4

Objective Question

106 47106 Which is the area of scientific dishonesty? 2.0 0.00

A. Non publication of data

B. Description from different sources
C. Poor data storage and retention

D. Unaceptable publication practices

Choose the correct answer from the options given below :

1. A.B. D only
2.A.C.Donly
3.A.B. Conly
4.B. C.D only
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Objective Question

47107

58_Live_PhyEdu_B1_E_101-150.html

W $uc $ &7 T i AT

A. STCT T B

B. faftr Hidi § faaor

C. W14 SIET UG 3R 3aRIY
D. oM yHEH dR-ad

i ST U fap eyl § 9 gl SR &1 904 iy |

1.%dd A, B.D
2.%HGd A, C.D
3. AU A. B, C
4. %40 B,C,.D

Al
A2
A3

A4

Which is Rostan’s physique types?

A. Digestif
B. Apoplectic
C. Musculaire
D. Phthisic
E. Cerebral

Choose the correct answer from the options given below :

1
2
A
4

1= ST U fap eyl § 9 gl SR &1 90 iy |

1.%dd A, B.D
2.%dd A, C.D.E
3.HAAA.C.E
4.%ad B, C.E

Al

2.0

0.00
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A2
A3
Ad

Objective Question
108 147108 Which of the following tests are related to Agility assessment? 20 0.00
A Burpee test
B. Side step test
C. Right Boomerang Run test
D. Dodging Run test
E. Rogers test

Choose the correct answer from the options given below:

.B. C.D only
.A.B.C.D only
3. C and D only

4. A.B. and E only

frfafead & @ SF-u1 Tem gaar RuRo (@eie) § J6Edd 82

A, U Tj&

B. 3¢ WY GRI&0

C. I[ZC FERI T TR0
D. SIToT 3 Tiem

E. oy gdtem

A fqu T fasedl § 9 981 SR &1 994 Sifol |

o =

1.$ddB.C.D
2.$ddA.B.C.D
3. %499 C IR D
4. %dT A, B, IRE

Al
A2
A3
A4

Objective Question
109 47109 2.0 0.00
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Which of the following are the decision making styles?

A. Reflexive decision style
B. Reflective decizion style
C. Consistant decision style
D. Submissive decision style
E. Democratic decision style

Choose the most appropriate answer from the options given below :

C.D only
B. D only
B.E only
B. C only

fFrafofaa o 9o H ifq Fofo i 8

A, TS Hofg oet
B. fa=iia fofa 2<ft
. T Fofa et
D. %&g o7 et
E. T dite o et

A= fqu T fas eyl ¥ ¥ Had IUgad SR &I 99 SIfeg|

LA
A
8
4. A,

1. $adA. C.D
2. $AAE. B.D
3.%0d C, B.E
4. PAAA. B, C

:Al
52
63
{\4

Objective Question

110 47110 2.0 0.00

What are the elements of sports management?
A. Organizing
B. Planning
C. Participating
D. Evaluating

Choose the most appropriate answer from the options given below :

. A.Band C only
A and B only

3. A.Band D only
4. B. C and D only

o =
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G e B BI-B1 F qd 82

A. IS ST
B. U1 &1
C. AT AT

D. JeiH Tl

1 fau Y fasedl ® ¥ 9ad 9uged SR BT 99 Bitelg|

1. FEAA. B3R C
2. P ARB

3. %dd A B3IRD
4.%aAB, C3RD

:Al
A2
A3
A4

Objective Question

1L 47l If in one way analysis of variance (ANOVA). Group A (N=10). Group B (N=8). 2.0 0.00

Group C (N=7), (MS)w = 4.21 and tab F0.05 (2.22) = 3.44, Using Scheffe’s post
hoc test, what are the values of Critical Difference?

A.2.78
B.2.55
C.2.65
D.2.48
E.2.81

Choose the correct answer from the options given below :

.A.C.Eonly
.A.B.D only
A.B.E only
.A.B. Conly

A THART FER0T - fa=eNuT (UHidn) &, 958 A (N=10), 998 B (N=8). §g C
(N=7). (MS)w = 4.21 3R tab F0.05 (2,22) = 3.44 &1 &l Y &7 URCEIP T
DI YR Hd §U. ildd 3feR & O fbar g 2

W o =

[ B

-
!

MO oW
[ER N ]

[ R s

— o A Lh oo

[ 2]

A= feu e fasmed! ® ¥ 9l SR &1 997 B |

1.$dd A, C.E
2.$dTA.B.D
3. P00 A.B.E
4. %dT A, B.C
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:A1
A2
A3
A4

Objective Question

12 47112 Which are the test items of AAHPERD Basketball skills test? 2.0 0.00

A. Speed Spot Shooting

B. Passing

C. Tumping and turning in the air
D. Defensive movements

E. Control dribble

Choose the correct answer from the options given below :

L.A.C 5
2.A B.D.E only
3AC

4.B.C, 3
- Egn(am)wmqﬁwﬁqﬂmﬁﬁaﬁﬁﬂﬁﬁ
HHAE?

A. TS e g

B. O

C. P SR gaT H gHAT
D. HfaReft i

E. e fgaa

1 feU T f[ddedl O T Yel 3R &1 99 Sifort |

1.$Pdd A. C.D.E
2. %40 A.B.D.E
3.P4AA.C.E

4. %ddB,C.D.E

Al
A2
A3
:A4

Objective Question
113 47113 2.0 0.00
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Which of the following principles are used by athletes in the goal setting process?

A. Specific

B. Challenging and Controllable
C. Impossible

D. Measurable and multiple

E. Personal

Choose the correct answer from the options given below :

.A.B.D.E only
.A. C.E only

3.A.B.C.D ounly
4. A, E only

q@mawﬁmmﬁmﬁ@mmwwm
AT 82

o =

A, fafem
B. FAKITguf 3R fgavfg
C. 3TRa
D. A9 3R 9g-fay
E. SfadiTd
i fau U fadedi O U TEl 3Tk &1 904 Difeiy|

1. 940 A, B.D.E
2. PAAA.C.E

3. PAdA.B.C.D
4. PATAE

'Al
52
63
{%4

Objective Question

114 47114 2.0 0.00

Which of the followings are the fundamental principles of pragmatism :

A. It uphold the power of man as supreme
B. Values are not pre-determined

C. It is monistic concept

D. It is pluralistic concept

E. It believes in matter

Choose the correct answer from the options given below :

1. A. D and E only
2.B. Cand E only
3. A.B and D only
4. B, C and D only
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srfferararg & 0@ 4o Rigia Fef@a i I s a &

A. U8 O™ &1 e 1 Hdied I-am g
B. e gd HufRa 98l 81d &1

(o B ¢ |

D. U8 Sgaaeid Yhedl ¢ |

E. Te ver A Ay axan g1

A fqu TTu fae el O ¥ 8l SR 1 994 pifo |

1. $adA. D 3IRE
2. %dd B, C AR E
3. %dd A, B3RD
4.%dd B, C3RD

Al
A2
A3
:A4

Objective Question

115 47115 2.0 0.00

Which are methods of identifying speeific research problems?

A. Inductive reasoning
B. Deductive reasoning
C. Empirical studies

D. Observations

Choose the correct answer from the options given below :

.A. C.Douly
.A.B.D only
3. A Bonly

4. A. D only

FrofafEa d @ oty i gl o iR s ol i s dr e

A, TS T&
B. TS a%
C. 3Hfg e
D. U&u

e fau 7T faswedl ¥ 6! SR &1 994 i |

o =

1.$adA. C.D
2.$adA.B.D
3. PadA. B
4. $AAA.D

Aly

1
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Objective Question
116 47116

Objective Question
117 47117
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A2

A3

A4

Match List I with List IT

58_Live_PhyEdu_B1_E_101-150.html

LISTI LISTII
(Host cities of Commenwealth Youth Games), (Year)
A_ |Bahamas 1. 008
B. |Samoa II. P004
C. |Pune II1. 2017
D. [Bendigo IV. 015

Choose the correct answer from the options given below:

ALV, B-I. CHIL
A-III. B-IV. C-L
CA-L B-IIL C-IL
AL B-IL C-IVL

R O

D-II
D-II
D-IV
D-III

et - 1 TIY gl - 11 DT HeE DI

LIST 1 LISTII
RTPHSE Ja1 Wal & AT e9) @
A fegrEm™ L 2008
B. [gHtan 1L [2004
C fou 1 [2017
D. [@f& V. [2015
1 feu Tt fa@edl O U Uel 3R &I 944 Bifor:
1.A-IV, B C-III, D-I
2.AIL B-IV, C-I. DAI
3.AJd, BJIL C-II. DIV
4.AII. B-I. C-IV. D-II
Al
1
A2y
2
A3
3
Aty
4

2.0

2.0

0.00

0.00
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Objective Question
118 47118

Match List I with List IT

58_Live_PhyEdu_B1_E_101-150.html

LISTI LISTII
A |[Water I |60% of muscle protein
B. |Protein I |5% of skeletal muscle mass
C. |Self and other substance| [II. |20% of skeletal muscle mass
D. Myosin IV |73% of skeletal muscle mass

Choose the correct answer from the options given below:

LA-IL B-I, C-IIL D-IV
CA-IIL B-IV, C-I. D-II
ALV, B-III G-I D-I
A-l. B-II. C-IV. D-III

et - 19 WY Gl - 11 D1 B DI

[ S

FENR R

LISTI LIST I
A [ d I. [U=g UdE @1 60 Uia=id
B. [gidH 1L [deeprcil U=l So0HM @1 5 Wiaeid
C. |74 ud = 111 [dreprell ORI SeqqH ol 20 W]
D. [FaiRA V. [deprell U=l geadH 75 Hided
e fu U [asedl § U Tl 3R &l 994 i
1.A-II, B, C-, D-IV
2. A, B-IV, C-I, BRI
3. A-IV. B, C-I1SE
4. A1, B-II, C-IV. D-II
Al
1
A2,
2
A3
3
Aty
4

Match List I with List IT

LISTI LISTII
A [Hollow Back I |Genu Varum
B. [Lateral curvature of the spingl II. |Genu Valgum
C. [Knock knees ITI. |Scoliosis
D. [Bow legs IV. [Lordosis

Choose the correct answer from the options given below:

1.A-II. B-III, C-IV. D-I
AV, B-IIL C-I. D-II
LAV, B-III. C-II. D-I
4. A-III. B-IV. C-II. D-I
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2.0

0.00
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Objective Question
119 47119

Gt - 1 1Y gl - 11 1 e Siferg:
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LIST 1 LIST 1T

A oKl 8@ GHgRd) | 1 [ RA

B. [H¥5s @ U gdg| 1L [ I

¢ ffeamnEa ) [n eieerag

D. [(IH IR IV, [T

19 fau e g edl # 9§ 961 GTR &1 944 DI

Al

A2

A3

A4

1.A-II. B-III. C-IV. D-I
LAV, B-IL C-I. D-I
JLA-IV. B-IIIL C-II. D-I
4. A-III. B-IV. C-II. D-I

Match List I with List IT

LISTI

(Strategies for enhancing Group
Cohesiveness)

LISTII

(Example of intervention strategies)

Diwvide the swimming pool into areas

. [Individual sacrifices

IV.

A [Distinctiveness I ey blincsdiinc)

B. |Individual positions II. |[Establish a goal to lose weight together
C. |Group norms 111 |Make up posters and slogans for the class
D

|Ask regulars to help new people

Choose the correct answer from the options given below:

LA-L. B-II, C-III. D-IV
A-III. B-I. C-II. D-IV
JA-IV. B-IIIL C-IIL D-I
CA-IIL B-IV, C-II. D-I

B
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2.0

0.00
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Objective Question
120 47120
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Gt - 16 1Y Gl - 11 T e Sifeig:

LRt LIST IT
(FE &1 SHidar & wade it R ¥ NG P Om——
I - . E@$wmﬁﬁﬂwﬁﬁﬂﬁa
b O T YR H D dH b 170 Teb aéd
B. |quidas i I Frffd @
C. [9¥8 & 151 111, [P @ (070 Uk SR AR (KrTE) ST
NE Soan . [T e G T Y e e
] |pE

i fau U fadedi § 9 HEl 3R &1 90 SDifeig:

1. A-I. B-II, C-II. D-IV
2 AN, B-I, C-II. DIV
3.AIV. B-III C-II. D-I
4. A-TII. B-IV., C-II. D-I
Al
1
A2,
2
A3
3
Ay
4

Match List I with List IT

LIST I LIST IT
Y. M. C_A. College of
" |Physical Education
Central Advisory Board)]
B. |of Physical Education | II. |1993
and Recreation
All India Council of

C. g III. 1920
Sports

I |1930

D Nattonal Council for v lhoss

Teacher Education

Choose the correct answer from the options given below:

AL B-IV. C-I. D-II
AL B-I. C-IILL D-IV
AL B-I. C-IV. D-II
CA-IIL B-IL C-IV. D-I

| S

a0

2.0

0.00
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Gt - 1 T1Y Gl - 11 BT e SifE:

LIST 1 LIST I
A [ars v 8T IRIRSG a1 geridae L 1950
B [o=id RIS 1R U8 TR qaednR aig| 11 (1995
C. |aT YR T uliug I 1920
D. RI¥TY f2rarh e givug Iv. 1954
3 fau U fo@menl & ¥ 9o SR @l 99 Bt

1. AL, B-IV, C-I. D-II

2.AJII, B-L CJI. D-IV

3.AII. B-IL C-IV. D-I

4. AL B-II, C-IV. D-I
Al

1
A2y

2
Ads

3
Aty

4

Match List I with List IT

LISTI

LIST IT

. [Bones

I

[mportence

. [Reproduction

II.

[Psoriasis

Skin

1

[Peripheral vascular disease]

o|o|w|=

. [Blood Vessels

IV.

[Disc degeneration

Choose the correct answer from the options given below:

AL B-IL

b -

Lo

ATV, B-L
AL B-IV. G-I D-II
A-Il. B-IIL

C-III. D-IV
C-II. D-III

C-IV. D-I

et - 15 9Ty Gl - 11 DT T Biferg:

LIST I LIST I
A. [gfsan I [dg@dl
B. [4oFA 1L G
C @ 111, [qR3@1g Sag1a4 30
D. FliR aig®T | 1v [[§9 ds5) 2"am @)
i QU T fad el O ¥ 9l 3R &1 994 Bifofd:
1A BEIL, CAIT DIV
2.AIV. Bl C-II, D-II
3.A-II, B-IV, CI, DI
4. A-II, BJI, C-IV. D-I
Al
1

0.00
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123 147123

Objective Question

Objective Question

A2

A3

A4

58_Live_PhyEdu_B1_E_101-150.html

Match List T with List IT

LIST I (Tvpe of strength LIST II (Meaning)
A |Absolute strength I. [Ratio between maximum strength and body weight
B. [Relative strength I1. |Muscle creates tension and shortens
C. |Concentric strength | IIL [Exert maximum force regardless of the body weight
D. [Eccentric strength I'V. |A muscle create less tension than the external resistance

Choose the correct answer from the options given below:

1LA-IIL B-II, C-I. D-IV
AL B-l. CJI D-IV

S )

CA-IV, B-I. C-II. D-III
A-III. B-I. C-II. D-IV

el - 19 Q1Y Gl - 11 BT e Sifoig:

LISTI LISTII
(e BT UTPN) (STER)
A feug wridd | 1 |sif¥idhaH =iidd Ud TR 991 & 5 S0 |
B. [amfga wiga | 1. U= oE ud Bid 817 & T Jid Bl g
C. [dofe® Tiag | 111 RRIR @94 0 &9 (U 641 SiUaad g &l 5ad |
D. [Scbisen o IV. [T U=il §1ed Uid A9 ] HUAT HH a-10 3add Bl ¢
i fdu U [l § 9 9 3R &1 99 Sifeig:

LA B-II. C-I. D-IV
LA B-l. C-JII. D-IV
JCA-IV. B-I. C-II. D-III
4. A-II. B-. CII. D-IV

Al

A2

A3

A4
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2.0

2.0

0.00

0.00
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Match List I with List IT

58_Live_PhyEdu_B1_E_101-150.html

LISTI LISTII
A [Discrete variable I |Characterized by equal units of measurement|
B. |Continuous variable | II. |[Cannot be subdivided by less than units
C. [Nominal scale ITI. [Non gradient classification
D. |Interval scale IV. [Capable of any degree of subdivision

Choose the correct answer from the options given below:

A-IL
. A-IIL
AL
A-IIL

b -

L

B-IV.
B-IV.

B-IV.
B-IV.

C-I. D-III
C-I. D-I
C-III. D-I
C-II. D-I

et - 195 1Y Yl - 11 DT (B BifoIg:

LISTI

LIST II

[EIEESEER 1. |90 @1 991 S@eal R UG iRid #Xdl 6

ad =R 1L [F@pisal § &F Wiauiied Te! el of 9dal s

[Sihicich AT 111 [FR-3HTd & 1o |

glo|w|=

S Aol | IV, [iayred & gl U, 39mr & gam|

1 f4u U fadetl O ¥ 9ol 3R &1 99 SIfolu:

AL B-IV. C-L
AL B-IV. C-L
AL B-IVD CAIIL
CA-IILL B-IV. CAIL

o =

Lo

Al
A2
A3

A4

D-III
D-II
D-I
D-I

2.0

0.00
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Objective Question
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Match List I with List IT

58_Live_PhyEdu_B1_E_101-150.html

LISTI LISTII
IPresenT ability to perform in a variety of
A I coiay [ athletic events or sports, determined by a

combination of basic elements such as
speed, coordination, flexibility etc.

General Motor

" [Capacity (GMC)

. lactivities, ability to perform in big

[Developed capacity, present ability of an
individual to perform in a variety of sports

jmuscular activities requinng neuro
Imuscular coordination.

General Athletic
" JAbility (GAA)

" Ipsvchomotor) activities involving large

[Potentiality of individual to perform in
imany motor (neuromuscular,

range of movement.

General Motor -
B [Ability (GMA) By

[nnate or inborn ability to learn complex
Jmotor coordinations.

Choose the correct answer from the options given below:

1.A-II. B-III, C-L
AL B-IV. C-L
JLA-IV. B-IIL CAIL
4, A-IV. B-III. C-L

D-IV
D-II
D-I
D-II

G - 1 W1y YT - 11T e Piferg:

LISTI LIST 11
] 721 Teiice SIS 31 el H Ue= &1 gadH gl
A [ATeT g I e, §H-a0, el ST SR Herd qel o 9T gRT
RRECEEI
] (AP G &7 | 19 el ST oidl 5 HaRIA &1 [odl o
p [GTEFT HIER & | | [@1G0HH G| 55 AR Sro # 7esE B
N IRtk 'gmméﬁqﬁﬁwmaﬂuw-dwaﬁamuwméﬂ?ﬂ
|
S QDT ATGURITG, AHl-H1cY) oM 1 U3+ &
¢ [T wifea 111, [fR18 forT Safaa @1 Sfa:ifan H 71T @1 oA <of JiHe
A G ) =)
D, [BTEF HISR ARG 1, S HIeR §H-G0HT & e T H8F S 7 THb
i CIRSRY [
=14 fu U fdeedl & 9 Hel IR &1 997 SIii:
1.A-IL, B, Cd, D-IV
2.A-II, B-IV, C-I, D-I
3.AIV, B-II, C-I, DI
4. A1V, BJI, C, DI

Al
A2
A3

A4
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Match List I with List IT

LISTI LISTII
(Indian athlete) (Sports)
A JAchinta Sheuli| I. [Boxing

Sudhir

II. |Para table tennis

TIT. [Weight lifting

B.
C. [Nikhat Zareen
D. [Bhavina Patel

IV. [Para power lifting|

Choose the correct answer from the options given below:

[ S

o

CA-IL B-IIL
ATV, BAIILL
AL B-IVL
AL B-IVD

C-IV. D-I
C-I. D-II
C-I. D-II
C-I. D-II

et - 15 9Ty Gl - 11 DT T Biferg:

58_Live_PhyEdu_B1_E_101-150.html

TIST I LIST 11

(HIRE TYEie) (EK)

A |sifamar fraet | 1. [Hodmarsi @rfeam
B. [g9R II. [T dea-Sg

Cc. [FEdwiFE |1 [HRAeE @efaipm
D. [ifgaruea | v, [owr urer Rifgen

4t fau U fadedi O U Tl 3R & 90 Siieig:

1. A-II.  B-IIL
2.AIV. B-IL
JLAIL B-IV.
4. A-IL. B-IV.

Al

A2

A3

A4

Asrange the following cities in descending order according to their year of

C-IV. D-1
C-I. D-II
C-I. D-II
C-I. D-II

organization of Asian Games.

A. Manila
B. Busan
C. Incheom
D. Tehran

Choose the correct answer from the options given below :

e
SRR
> 0w w
apon
Hwoeg

0.00
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frafafad el &1 3 TR 9dl & e 9 & BHTaR HRIe Ha 8
Fafeyd P :

A, A

B. g4
c. =3
D. dg¥H

A feu e fap eyl O ¥ gl 3R &1 994 pifo |

e B b
DAk
0 W
apFon
Hwoeg

Al

—_

A2

A3

A4

Objective Question

127 147127 2.0 0.00

Find the correct sequence of fine layers of connective tissue from outward to
mnwards.

A. Perimysium

B. Endomysium

C. Sarcolemma
D. Epimysium

Choose the correct answer from the options given below :

3
4.

TIoie Idb] &1 WRiNPHd URdl &1 Sield! Siqgd! Bi-c &1 HH adigu|

b
>0 oW
OwWpEn

NP wo
W e

i feu T fadedl O U Ul 3wk &1 94U Siforg|

LB.C DA
2.D.A,B.C
3.C.B.A.D
4.A.D,C,B

—_

Al
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A2

A3

A4

Objective Question

128 147128 Sequentially arrange the muscles of the human body according to the proximal

attachment from head to toe :

A. Semimembranosus

B. Gastroenemius

C. Subclavius

D. Extensor digitorum brevis
E. Sternocliedomastoid

Choose the correct answer from the options given below :

[ SR

3.E.C.A.B.

4.C.E.A.B.
OHE-IRR BT TRuEl S &R ¥ IR d Hoew Saddl & AR 39T o
A &yd PIfT -

A. TS U= (@HIEERRD
B.TRg
C. YloTgeD Uil

D. 3f7ferad weiRoft o ot
E. JUIE HUHRIT

Hid feu U fadedi O U TEl 3R &1 9094 Difeiy |

IJ!—‘
ampE 0
O o b

P 0P
WD

= el
ggoow

Al

—_

A2

A3

A4

Objective Question
129 47129
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Find the correct sequence of how our sensory input competes for attention and
outlines the process by which skills are then produced.

A. Perception

B. Decision making

C. Initiating the correct response via neural impulses to the body
D. Response

Choose the correct answer from the options given below :

>
Sheke!
now
[vsMs Mlw]

A B.CD

39 T8I o H & 9aigU, forgH g TeR, TR Yddt SMTd &4 &+ & fau
yfaaryf R 3R 39 Ufthd1 o1 =uval 9914 &, o gR1 eiwrd o1 e
fpararar g

A UT&fIH0T
B. i f=mior
C. deR 137 ¥ YRR & H1eHH T el 3febar Bl UR™ BT

D. 3fehar
e fgu T fad eyl § 9 8l SR &1 994 pife |

1
2
G E
4.

i
>
wo o
NnNpw
Owwd

o

Al

A2

A3

A4

Objective Question

130 47130 Find the correct sequence of teaching general lesson plan in physical education. 20 0.00
A. Formal part

B. Special part

C. Introductory part

D. Recreational part

Choose the correct answer from the options given below :

1: BAC. D
2.C,A,B,D
JJAB.C.D
4.C.B.A.D
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YRIR® 181 & 9 ure di-1 & U401 &1 981 v H ddisu|

A. STTETRG HIT

B. faxw ym

C. RE@ Hm
D. FARGI® HIAT

i QU T f[dd el B U Ul 3wk &1 94U Siforg|

W W >

P e
npow
> owo
oggog

Al

A2

A3

A4

Objective Question
131 47131

Following are the steps of the Health Planning Cycle, arrange them in sequencial 2.0 0.00

order.

A. Analysis of Health Situation

B. Monitoring and Evaluation

C. Write-up of formulated plan

D. Programming and Implementation

E. Establishment of objectives and goals

Choose the correct answer from the options given below :

P
S0
i m
oHOO
AB DM
ws e Rlvvivs]

3.
4. AL

WA (IS =iep & MAARad 2RV 8, 3% ST UITaR o 1 aafeud
DI :

A.W@ﬂfﬂm

C:WWW
D. STHH M1 3R fSharagq
E. 35xal Ud A&l &1 RIMYd =1

+id feu U fadedi O U Tgl 3Tk &1 994 iy

1.CADEB

2AECDB

3ICCAE.DB

4 A EDC.B
Al
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A2
A3
A4

Objective Question

132 47132 2.0 0.00

Write down the correct sequence of Model Training taxing the anaerobic Alactic
System

A, Warm up

B. Power Training

C. Technical Training of Short duration

D. Maximum strength training

E. Maximum speed and agility training (2 + 8 second)

Choose the correct answer from the options given below :

B e
P
SReNel~
W g
oMY
mown

SHargdly Udlidee YUl O HRGI TiaR= iRigH & Fgi 3 &I a5y --

A. FIHRT

B. Xifad wfremn

C. 7Y 3{ale] aTel qab-i1id UIRI&ul

D. Sifer@mad wfda wikiam

E. 3{ftiebaH 7fd Td el HiRiam (2+8 dhs)

i fau T fddedl 5 U Yol IwR &1 94U Siferd|

it ol
>
vnow
W W o
N Y m
mown

Al

—_

A2
A3
A4

Objective Question
133 47133 2.0 0.00
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Sequentially arrange the following commands of SPSS-21 version for caleulating
Analysis of Covariance (ANCOVA)?

A. General Linear Model

B. Model-Sum of Squares — Type I

C. Univariate

D. Post Test-Dependent variable, Pre-Test Covariate
E. Analyse

Choose the correct answer from the options given below :

[ S

[ it
0P
>oow
DEwO
Wwog

W

HEWERUI- (IR0 (TTepIaT) & R g UF Ul UH TH - 21 PRl &
FrafaRad Tae o o pH J SHaiRyd Sifg|

A g XEg Hred

B. g7 &1 AT AISE - TBU I

C. THR

D. ITR-ULET - ST =R, Jd-ULI&01 - FEHIR]
E. fa=eiyur eoA1

A fqu e foedl ¥ 96l SR &1 994 pifo|

JearicEs
f
ap P p
POOHE
SIS
Wwoo

S )

Al

—_

A2

A3

A4

Objective Question

134 47134 2.0 0.00

Sequentially arrange the following skill tests in ascending order in the year in
which these were constructed :

. Kemp Vincent Rally Test

. Sherman Rally Test

. Hamer Tennis Ability Test

. Wisconsin Wall Test

. Aloia Tennis Service Return Test

g ow e

Choose the correct answer from the options given below :

i
SESESRS

P
el o'

e
Wm0 w
O
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Objective Question
135 47135
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FofRaT SR wieon $1 370 i TF ¥ & 3FER SR 3 &
FafRyd P :

A, PrOfa=He Yol gl

B. YA ot TIEr

C. B8R T g gltem

D. o=+ ara wieu

E. 3agar ef+g fdy fred odtem

1 fau Y faedl ® U Hel TR &1 99 By |
1.LA.D.B.C.E
2.D,A.C.B.E
3:D:AB B, C
4. D,A B.C.E

Al
1

A2y
2

Ads
3

Ay
4

Arrange the official ranking order of the states in ascending order for the 3rd
Khelo India youth games

A, Kerala

B. Manipur

C. Karnataka
D. Maharashtra
E. Haryana

Choose the correct answer from the options given below :

o =

o

P o0
apo»

Onwo
W e

a0

AR WSS gal Weil - 8 HRIE! o1 U syl B HUBIe LT T bl
AT DI |

A PR
vl
= g
i fau U fas el O U TEl 3Tk &1 98 Bifoiy|

1o =
i It

> OO0
SNowy

B
o0y
oe s oy
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136

137

Objective Question

47136

Objective Question

47137
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Al

A2
A3

A4

Given below are two statements : 20
Statement I : To start quickly in one direction keep the center of gravity as low as

possible and as near possible to the edge of the base nearest to the direction of

intended motion.

Statement II : To stop quickly when in rapid motion. drop the center of gravity as
low as possible, consistent with subsequent movements, create as great an area of
base as possible. and move the center of gravity away from the edge of the base
that is nearest the direction of movement.

In the light of the above statements, choose the correct answer from the options
given below :

. Both Statement I and Statement II are true
. Both Statement I and Statement II are false
. Statement I is true but Statement II is false
. Statement I is false but Statement IT is true

Hu 1 : ot femm & Aol B URY 3 8q 19 $5 QuRiva (48 qut snfiy
TTfd B T2 g GHa YR & PR e 1@-! Fiigu|

HYA 1 - ofied 71Tl & AR ol § Hep1 B, T0ed b5 I GURIUG Sdld JaaHi
P 1Y FRER T SAT TURIYT YR &3 B A9 §H1 3R MUR P BR
T R T X 5 HaeH Pl a1 & Fodl® gl o

SWRIKT Y & Tale H, i [3U T fddbedi § 9 968 Iugad I & 997
PIfoIT -

b =

o

L. PYF AR I GH TT§

2. HYF 1 SR I EHT ST §

3. YT 1 I B, AP HYT I 3T ©
4. PU HII T, AP YT 1 a8

Al

A2

A3

A4

2.0
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138

Objective Question

47138
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Given below are two statements :

Statement I : When a group feels distinct, its feelings of unity and oneness
decrease.

Statement IT : In sport distinetiveness is traditionally achieved through team
uniforms and mottoes.

In the light of the above statements, choose the correct answer from the options
given below :

. Both Statement I and Statement II are true

. Both Statement I and Statement II are false
3. Statement I is true but Statement II is false
4. Statement I is false but Statement II is true

BYA 1 : O1F Blg THE THED Hegd BdI ¢ dl SUS| Uhdl SR T &1 HIGA1T
Y Bl @l

FUA 11 : I 8 UHSHI S BT a9-UET 3R 1] ared & AT ¥ URM RS
U UG P E B

SWRIK BY1 & Sl 3, - [§U T fadeul § 3 9ad Suge 9wk &1 997
FIfor :

[

LFYFIAR IS TE T

2. FYF 1 AR I AT AT

3. U 1 9 €. Wb HYT I ST ©
4. P HTIRE. APT SUT NI ©

Al

A2

A3

Ad

Given below are two statements : One is labelled as Assertion (A) and the other is
labelled as Reason (R).

Assertion (A) : Improvements to physical condition are based primarily on the
overload principle.

Reason (R) : Overload principle holds that the capacity to respond improves only
when the demand placed on the body increases.

In the light of the above statements. choose the most appropriate answer from the
options given below :

. Both (A) and (R) are correct and (R) is the correct explanation of (A).

. Both (A) and (R) are correct but (R) is NOT the correct explanation of (A).
. (A) is correct but (R) is incorrect.

. (A) 1s incorrect but (R) 1s correct.

O
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T A FUTGU T T : TP MDY Assertion (A) T =9 T AR & A g8RT

JTP BRI Reason (R) FEAH:

%{f\?ﬂﬂ-%?_?ﬁ (A) : i AR F FuR wrufie 0 9 SfauR Risia & snaia
|

BRUT(R) : HAUR R & TR ofd IR &1 €1 &l gig o= 7 3 ot 2.
3T 8 &ar axl QUR ST 8 1

SWRIT HY & Sl 4, 4 3T 7Y fadpeul § 9 969 Suge Wk &1 997

(A) 3R (R) THI TS & 3R (R). (A) T I BB

(A) 3R (R) T TE &, AP (R). (A) BT I TR AL B
(A) GEl 2. feT (R) WEl TST =1

(A) Te1 9T 8. Afp (R) TS B

L

= W

Al

—_

A2
A3
Ad

Objective Question
139 147139

- . 20 [0.00
Given below are two statements :
Statement I : In analysis of covariance the initial means are adjusted for difference
in final means and the adjusted means are tested for significance.

Statement I : The advantage of using analysis of covariance is that analysis of
variance is first computed for the difference between initial means and a
significant F-ratio indicates that the initial sample come from the same population,
so 18 devoid of sampling bias.

In the light of the above statements, choose the correct answer from the options
given below :

. Both Statement I and Statement I are true
. Both Statement I and Statement II are false
. Statement I 1s true but Statement II 1s false
. Statement I is false but Statement II is true

[

o
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YT 1 : TR fazadyor I SR Oreg sifan areg ¥ ofar & fow somifoa
g 9 § 3R THEIS J7e Tl & o] TRifed [ 9 § 1

U 1T : FEVRRYI fIEN0] 3 UaRT &1 @1y I8 § &b U1 &7 faweeor gdyum
R A1t & o1 R 31 IRT0F & forg fovar wrar § ok Tew quf £-
3UTE T8 SF1d P & [ skfeufaey ue 99 snerdt S faar mar .
gafon Hfaee gemmd-fRa B

SWRITT HY & {Tale 1, i 3T T fadheul § 3 96 UG 9wk &1 997

L. HYT I AR IS T

2. FUTI AR I EHT 3TA T

3. FHUTI T . AP HUT I 3T ©
4. P TI R AP dYT I I e

Al
A2
A3
A4

Objective Question

140 147140 2.0 0.00

Given below are two statements :

Statement I : In norm-referenced testing, the major concern is whether individuals
reach an established level of performance regardless of how well other individuals
do.

Statement II : In criterion referenced measurement. the relative performance of
students is assessed and 1s the basis for the grading system in Physical Education.

In the light of the above statements, choose the correct answer from the options
given below :

. Both Statement I and Statement I are true

. Both Statement I and Statement II are false
3. Statement I 1s true but Statement II is false
4. Statement I is false but Statement II is true

ko =
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FUA 1 - Frm-gefifa whem &, e WeR 78 § 5 39 oofda e &
T R Igad §. 997 59 b o e 39 R TR o4 95 81|

BUF 11 : AFES Seftia A= &, SH! & 9l yes geaifed fear e s
IR e e & ST sl @1 snuR 1

SR BY & Sl 4, i 3T 7Y fadeul ¥ 9 969 Suge IR &1 997

L. BT IR SH T &

2. FUTI AR SHI 3TT T

3. YT E, AT HYT I 3T ©
4. P TI R AT pUT I aT©

Al
A2
A3
:A4

Objective Question
141 47141

Read the following passage carefully and answer the questions that follow:

Data on anxiety level using Sports Competition Anxiety Test (SCAT) questionnaire
by Rainer Martens was colleeted on 50 players of different groups of sports
namely : Individual Sports (10). Racket Sports (10), Water Sports (10), Team
Sports (10) and Combat Sports (10). After collection the data was analysed using
One way Analysis of Variance (ANOWVA) and as a result for Individual Sports

(3X1 = 167). Racket Sports (3Xz = 153). Water Sports (3’ X3 = 119). Team Sports
(XX, =198) and for Combat Sports (3 X5 = 197). Further analysis of data revealed
for Individual Sports (3 --> X12 = 2827). Racket Sports (Y X3 --> X22 = 2373).
Water Sports (EX% --= X32 = 1437). Team Sports (Y X 3 --> X42 = 3956) and for
Combat Sports (YX2 = 3933). The tabulated F value at 0.05 level of significance
with degree of freedom 4. 45 was formed to be 2.58.

Which is the value of Total Sum of Squares (TSS)?

.614.88
.614.68
.614.86
.641.88

O
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Fufafad o eFgde ue 3R id 6T T gyl & 3w E:
@auﬁmaﬁg@muﬂ&mmﬂﬁl}a}umﬁuﬁﬂﬁﬁgqﬁwﬁﬁ GIESH
IR faftr @d Wi & so fafsal ¥ sies watd [ ¥, 58 aafdaa @at (10),
Y@ gl (10), Gﬂﬂaiﬁ@?ﬁ (10), 9 Wat (10) R FETG ©al (10) (B 9
@aﬁﬁmw%w|mw$um&mﬁwwww
(T 1 WG $d g [axefid faan o1 7R uume W&y sfaaTd ©al 9 (53X, =

167), ¥dhe Wal Y (3%, = 153), 9 Wal U (3, = 119), TH G G (TX, = 198) 3R
THEE Wadl 9 (3Xs = 197) 3ids U g0 Side & 3R 314w &axamo & gy
G el § (32> X12 = 2827), Y WAl H (3x2 > X22 = 2373), & Gaielt
Gl ¥ (yx2 --> X32 = 1437), T Gell ¥ (3x2 --> X42 = 3956) 3R AT Gail §
(X2 = 3933) B TUH 33 TR §YI WA=-BIe 4, 45 P WY Wefal ¥R 0.05
R GRUIES F P A 2,58 W g |

& & Fd AT (TSS) BT I fdoa1 81 2

614.88
614.68
614.86
641.88
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Read the following passage carefully and answer the questions that follow:

Data on anxiety level using Sports Competition Anxiety Test (SCAT) questionnaire
by Rainer Martens was collected on 50 players of different groups of sports
namely : Individual Sports (10). Racket Sports (10), Water Sports (10), Team
Sports (10) and Combat Sports (10). After collection the data was analysed using
One way Analysis of Variance (ANOVA) and as a result for Individual Sports

(¥X1 = 167). Racket Sports (3X = 153). Water Sports (3 X3 = 119), Team Sports
(32X, = 198) and for Combat Sports (3 X5 = 197). Further analysis of data revealed
for Individual Sports (3°7 --> X12 = 2827), Racket Sports (3 X2 --> X22 = 2373).
Water Sports (Y X2 --> X32 = 1437), Team Sports () X} --> X42 = 3956) and for
Combat Sports (ZXE = 3933). The tabulated F value at 0.05 level of significance
with degree of freedom 4, 45 was formed to be 2.58.

Which of the following are correct for the calculated value of F-ratio?

A. Hypothesis is rejected.

B. Hypothesis is accepted.

C. Calculated F = Tabulated F0.05 (4. 45)

D. There is significant difference among group means.

E. There is no significant difference among group means.

Choose the correct answer from the options given below :

1.B.C.E only
2.A.C.E only
3.A . C.Donly
4. A. C.D.E only

fofafag o eryd® ue R i o 7/ usi & 3o dive

T wforal giEar oiemT (TEIEEL) Halaeh &1 TN @xd gu % Hes g1 Eﬂ?
R faftr Od Ul & so@aﬁﬁrﬁmmﬁﬂma o safdReTa

XFe QA (10), TA-GaH Bl (10), SF ST (10) SR GHTETT Sell 10}(@3’@‘@[
@aﬁdmw%mwmw%qm&mﬁwww

(T TaT) W1 W @ U =it [l AT R 9iRom 6y SHfadTd 9ol 9 (5%, =
167), YPe WAl Y (35X, = 153), 6 Wl § (3X3 = 119), T Gall ° (37X, = 198) 3R
AN el ¥ (3Xs = 197) 3P U gUl i & SR ¥ E=emo & ugiad
ST el § ( ¥ 3--> X12 = 2827), Yhe Wall § (3X3 —> X22 = 2373), 5 Haiet
el ¥ (5x2 --» X32 = 1437), TH WAl H (3X] --> X42 = 3956) AR FAMHI Tail F
(3%2 = 3933) @ ©U H 3HiPs YA gUI WIAH-DIC 4, 45 & Y W] TR 0.05
IR URUieg ' @1 J1F 2.58 U g3

F-30Td & URDed H1H & Feul # Fafeiad 59 &H 3 9el 82

A. IR srdiga 71

B. TR& e Wipa 8|

C. IR F > ARUIESG Fy g5 (4. 45)

D. THg Wedl & s Agayuf 945 3

E. THg 9141 & i Big Aoyl 98 el o

- fau g fas et & I el SR &1 997 S|

1.9ddB.C.E
2. P4A A, C.E
3.H4A A, C.D
4. Pdd A, C.D.E

Al
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Objective Question
143 47143 Read the following passage carefully and answer the questions that follow:

Data on anxiety level using Sports Competition Anxiety Test (SCAT) questionnaire
by Rainer Martens was collected on 50 players of different groups of sports
namely : Individual Sports (10). Racket Sports (10), Water Sports (10), Team
Sports (10) and Combat Sports (10). After collection the data was analysed using
One way Analysis of Variance (ANOWVA) and as a result for Individual Sports

(3X1 = 167). Racket Sports (3Xz = 153). Water Sports (3 X3 = 119). Team Sports
(XX, =198) and for Combat Sports (3 X5 = 197). Further analysis of data revealed
for Individual Sports (3 --> X12 = 2827). Racket Sports (Y X3 --> X22 = 2373).
Water Sports (EX% --= X32 = 1437). Team Sports (Y X 3 --> X42 = 3956) and for
Combat Sports (YX2 = 3933). The tabulated F value at 0.05 level of significance
with degree of freedom 4. 45 was formed to be 2.58.

Sequentially arrange the following steps for calculating One Way Analysis of
Varaince (ANOVA)?

A. Correction Factor (C.F.)

B. Sum of squares between groups (SS)b
C. Total sum of squares (TSS)

D. Raw sum of squares (RSS)

E. Sum of squares within groups (SS)w

Choose the correct answer from the options given below :

peaie
>
WO 0o
9nUn
0w
[esllesMesve]

o)
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fofafaa @ eFgd® ue 3R 9 50 T uyf & IR S
@auﬁmaﬁg@muﬂmmﬂﬁqa_}umﬁuﬁﬂmﬁ@wmﬁi GIESH
R fafhs Ud 9Hg! & 50 faansal § ofies waty fid 9, 5 aafdaa (10),
Y@ gal (10), Ta-gF4t waf (10), 9 Eai (10) IR FHEE TGl (10) (@) F
WWWWEHIWW$U%&mﬁ®WWW
(THIE) W1 WG S U faxeifyd foan o1 7R ufiony ey sfdand @l 9 (5, =

167), Ybe Wall Y (3X, = 153), e Wail Y (35 = 119), AH Gell U (3%, = 198) AR
U Wal U (3Xs = 197) s U gU| SHide & AR 3ifid ey & ugid
G el § ( 32> X12 = 2827), Y Wall H (3x2 > X22 = 2373), 5 Gaielt
Gl ¥ (3x2 --> X32 = 1437), T Gell ¥ (3x2--> X42 = 3956) 3R FAMEG Gail §
(32 = 3933) & ©UH DS UHIT gUI TH-PIE 4, 45 T T Frfel &R 0.05
R GRUIESG F P A 2,58 W g |

T 9Y TR [GR0iN0) RS e o HafeRad S| @ $ipH H ouaiid
Fiferg|

A. RN BRSD (CF)
B. 9HE! & Ted &1l &1 41 (SS),

C. a7l &1 o TRT (TSS)

D. G &1 SARSsd I (RSS)
E. 9O & 97 &1 31 (s8),,

i feu Tt fa@ed! § U Ul 3R &1 99 Biford|

o
>
© OO0
SER=Re
o wwm
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Read the following passage carefully and answer the questions that follow:

Data on anxiety level using Sports Competition Anxiety Test (SCAT) questionnaire
by Rainer Martens was collected on 50 players of different groups of sports
namely : Individual Sports (10). Racket Sports (10), Water Sports (10), Team
Sports (10) and Combat Sports (10). After collection the data was analysed using
One way Analysis of Variance (ANOVA) and as a result for Individual Sports

(¥X1 = 167). Racket Sports (3X = 153). Water Sports (3 X3 = 119), Team Sports
(32X, = 198) and for Combat Sports (3 X5 = 197). Further analysis of data revealed
for Individual Sports (3°7 --> X12 = 2827), Racket Sports (X2 --> X22 = 2373).
Water Sports (Y X2 --> X32 = 1437). Team Sports (Y X3 --> X42 = 3956) and for
Combat Sports (YX2 = 3933). The tabulated F value at 0.05 level of significance
with degree of freedom 4. 45 was formed to be 2.58.

Given below are two statements :

Statement I : Post hoe test for the comparison between paired means is applied
when the hypothesis is rejected or not accepted following a significant Analysis of
Variance (ANOVA) F-ratio.

Statement IT : If critical difference is greater than the mean difference for a given
level. then there is significant difference between paired means.

In the light of the above statements. choose the correct answer from the options
given below :

Both Statement I and Statement IT are true
Both Statement I and Statement II are false

3. Statement [ is true but Statement II is false

4. Statement I 1s false but Statement II is true
Fafafad @ aFyd® Ue IR id 168 7/ 93 & 302 oI
T wforayl giEar oiemT (TEIEEL) TH1ach B AN S oY R Hes Eﬂ?
R faftr Od Ul & so@aﬁﬁﬂ&mwﬁﬂ%ﬁﬂ 59 fdeTd
XFe Qal (10), TA-GaH Bl (10), 9 @@l (10) SR GHTEG Gl 10)(@3’@‘@[
faanfeat &1 9o faarar | WW%H%W@WWW
(GATaT) T T PR gU fa=aiid feban o SR uRkoms &y SfadTa Gai 9§ (35X, =
167), I0e WAl ¥ (3X, = 153), 0 Gall o (3Xg = 119), S o (7X, = 198) 3R
T Wal  (5Xs = 197) Hide U g0l Hide & AR HTew E=emor &y
ST Wall 8 ( 33> X12 = 2827), Y Wall H (3x3 > X22 = 2373), &< et
Gl ¥ (3%2 --» X32 = 1437), EH Gall ¥ (3% 2 --> X42 = 3956) 3R FAMYE Tail ¥
(3%2 = 3933) @ ©U H 3HiPs YA gUI WIAH-DIC 4, 45 & Y W] TR 0.05
R 9ROfIEg F* &l A 2.58 Ut gl

R b

P 1 : RId Tl & o9 gal & (oY UREgIS URI0 a8 Svged feha
ST § 916 IR SRd1Pd il § 91 He@qul HeRvT fa=eNoT (@) F-

ST BT I WIPR el Pl ¢

HU 11 : 76 Sifad SR, fed T TR & A1 SieR ¥ s4f¥es g &, o gfifra
A1t & o He@yul SiaR giaT 8

SR HY & Tl 1, - (34U 7Y fdedl d 3 e I9ge S 31 997
B :

FYTI RIS TI &

FYTI AR 1 ST 3T &

FYT I I 5. AfPT HYT I 3T &
FYTI I . AT pYT 1 g &

b e

= W
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Read the following passage carefully and answer the questions that follow:

Data on anxiety level using Sports Competition Anxiety Test (SCAT) questionnaire
by Rainer Martens was collected on 50 players of different groups of sports
namely : Individual Sports (10), Racket Sports (10), Water Sports (10), Team
Sports (10) and Combat Sports (10). After collection the data was analysed using
One way Analysis of Variance (ANOWVA) and as a result for Individual Sports

(3X1 = 167). Racket Sports (3Xz = 153). Water Sports (3 X3 = 119). Team Sports
(32X, = 198) and for Combat Sports (3 X5 = 197). Further analysis of data revealed
for Individual Sports (3 --> X12 = 2827). Racket Sports (Y X3 -->X22 = 2373).
Water Sports (EX% --> X32 = 1437). Team Sports (3 X3 --> X42 = 3956) and for
Combat Sports (:X‘ = 3033). The tabulated F walue at 0.05 level of significance
with degree of freedom 4. 45 was formed to be 2.58.

Match List I with List IT

LISTI LIST I
A_ |Sum of Squares between groups (SS)] 1. |27 438
B. [Raw Sum of Squares (R5S) II. |13911.12
C. |Calculated F-ratio I1I. |436.08
D. |Correction Factor (C.F) IV [14526

Choose the correct answer from the options given below:

A-IV. B-IIl. C-I. D-II
AL, B-IIL C-IL D-IV
AL B-IV. G-I D-I
AL B-IV. G-I D-II

b =

o
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Fafafea & argds ge ok 9 f5u 1 uyf & IR

g yfeRael i adien @U ALY ) Jura ST i B3d §Y R AE 1 gfEa TR
IR fafhs 9d 99l & so@aﬁﬁ!ﬂ&mk@m%ﬁ% fore aafdara (10),
Y@ gal (10), Ta-gF4t waf (10), 9 Eai (10) IR FHEE TGl (10) (@) F
WWWWWWW$HW&mﬁwWWW
(THIE) W1 WG S U faxeifyd foan o1 7R ufiony ey sfdand @l 9 (5, =
167), Ybe Wall Y (X, = 153), el Wl ¥ (3X; = 119), THH T U (3%, = 198) AR
U Wal U (3Xs = 197) s U gU| SHide & AR 3ifid ey & ugid
G el § ( 32> X12 = 2827), Y Wall H (3x2 > X22 = 2373), 5 Gaielt
Gl ¥ (3x2 --> X32 = 1437), T Gell ¥ (3x2--> X42 = 3956) 3R FAMEG Gail §
(X2 = 3933) P ©UH 3P YA gU| WIH-BIIC 4, 45 & WY Wbl T 0.05
W URUES F &1 HM 2.58 W |

I - 1% F1Y A - 11 DT e BIe:
LIST1 LISTO
OOgi @ A G @l an| L p7.438

T U T | 1L [13911.12
R@icd F-odd | 1L [436.08

gRisg @R (CE) |1V 14526

i fau U fasedi O O Tl 3R &1 98 DI

=) fed 1= I

A-IV. B-lIIl. C-I. D-II
A-III. B-II. C-I. D-IV
A-III. B-IV. C-II. D-
A-III. B-IV. C-I. D-II

ko =

= o
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Read the following passage carefully and answer the questions that follow:

Four runners namely Arvind, Ashish, Anmol and Arpet have exactly the same
weight of 175 pounds. They are running on 4 synthetic tracks having different
radius with the same velocity of 30 feet/sec?. The force of gravity on all the
synthetic tracks is considered to be constant 32 feet/sec?. Arvind is running on a
synthetic track which has a radius of 125 feet. Ashish on a track with a radius of
100 feet, Anmol on the track with 40 feet radius and Arpit on a track having radius
of only 10 feet to find out the force which pull them out of the lane at the turn or
how much force is needed to permit them to follow the turn of the track? This the
force that tends to pull or throw the athlete off his course when he is running.

Which is the value of the force that tends to pull Ashish, if the radius of the track is
110 feet?

. 44.74 pounds
. 44.47 pounds
. 47.74 pounds
. 45.74 pounds

FafRad o1 ergde gg ok T AU 7 ugl & SR Qe

RIS, SRy, SIS SR AU 1% IR UIae| &1 [depd 61 ¢71 4 Uh
IO YR 175 9198 B 9 IR 916 Tl )R AIS 3% &, fora! foear i €. dfd
TS GO a7 30 Be/Ass ¢ | it 41aq 9ol IR [F@re Ul §d 3ifdwd 32 Pe/
Yo s2 THET I § | SRIT< TE P1HAT U1a9 UY UR &1 61 ¢. (o (el 125
BT 3. 3R 100 Fe DI FSAI I o1a4 9y TR &I 6] ¢, 3HId 40 He &
20T aTdt UTe1 U WR 313 I8l § 3R AT0d 39 &6 &1 Udl @i & 10 $ad 10
e I A1 aTd 916 U IR &1s 36l § 9 39S HiS &I o (UY) ¥ e |id
A1 g A1 91a9 Y & HIS & B MG A S AT fba1 90 sTag®
87 U8 98 99 ¢. ol UYTIIE & ale- UR W9+ $I HavT sidl U1 349 0= 7y g
e Yhd ST |

b =

=

9 &1 T 1 R, 511 7= 1 Wi, Ife 39 ¢1a= 9y &1 Hs1 100 Je g 2

1.44.74 UGS
2. 4447 U39
3.47.74 U389
4.45.74 9135
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TAZ
{\3
{\4

Objective Question
147 47147 2.0 0.00

file:///C:/Users/Administrator/Downloads/58_Live_PhyEdu_B1_E/58_Live_PhyEdu_B1_E_101-150.html 40/46



6/13/23, 6:46 PM 58_Live_PhyEdu_B1_E_101-150.html

Read the following passage carefully and answer the questions that follow:

Four runners namely Arvind, Ashish, Anmol and Arpet have exactly the same
weight of 175 pounds. They are running on 4 synthetic tracks having different
radius with the same velocity of 30 feet/sec?. The force of gravity on all the
synthetic tracks is considered to be constant 32 feet/sec?. Arvind is running on a
synthetic track which has a radius of 125 feet. Ashish on a track with a radius of
100 feet, Anmol on the track with 40 feet radius and Arpit on a track having radius
of only 10 feet to find out the force which pull them out of the lane at the turn or
how much force is needed to permit them to follow the turn of the track? This the
force that tends to pull or throw the athlete off his course when he is running.

Which is the value of the force that tends to pull Arvind. if the radius of the track is
70 feet?

. 70.51 pounds
. 69,31 pounds
. 70.13 pounds
. 70.31 pounds

FafRad o1 ergde gg ok T AU 7 ugl & SR Qe

RIS, SRy, SIS SR AU 1% IR UIae| &1 [depd 61 ¢71 4 Uh
IO YR 175 9198 B 9 IR 916 Tl )R AIS 3% &, fora! foear i €. dfd
TS GO a7 30 Be/Ass ¢ | it 41aq 9ol IR [F@re Ul §d 3ifdwd 32 Pe/
Yo s2 THET I § | SRIT< TE P1HAT U1a9 UY UR &1 61 ¢. (o (el 125
BT 3. 3R 100 Fe DI FSAI I o1a4 9y TR &I 6] ¢, 3HId 40 He &
20T aTdt UTe1 U WR 313 I8l § 3R AT0d 39 &6 &1 Udl @i & 10 $ad 10
e I A1 aTd 916 U IR &1s 36l § 9 39S HiS &I o (UY) ¥ e |id
A1 g A1 91a9 Y & HIS & B MG A S AT fba1 90 sTag®
87 U8 98 99 ¢. ol UYTIIE & ale- UR W9+ $I HavT sidl U1 349 0= 7y g
e Yhd ST |

b =

=

9 BT T 1 81, St 3RfA< Bl Eiaw, afe 39 ulad gy &1 fIsa1 70 Be g 2

70.51 ARGS9
69.31 U39
70.13 T3S
70.31 T3S

L e

=W
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Read the following passage carefully and answer the questions that follow:

Four runners namely Arvind, Ashish, Anmol and Arpet have exactly the same
weight of 175 pounds. They are running on 4 synthetic tracks having different
radius with the same velocity of 30 feet/sec?. The force of gravity on all the
synthetic tracks is considered to be constant 32 feet/sec?. Arvind is running on a
synthetic track which has a radius of 125 feet. Ashish on a track with a radius of
100 feet, Anmol on the track with 40 feet radius and Arpit on a track having radius
of only 10 feet to find out the force which pull them out of the lane at the turn or
how much force is needed to permit them to follow the turn of the track? This the
force that tends to pull or throw the athlete off his course when he is running.

Which of the following statements are not correct?

A. Force that tends to pull Ashish is greater than Anmol.

B. Force that tends to pull Anmol is greater than Arpit.

C. Force that tends to pull Arvind is lowest.

D. Force that tends to pull Arpit is greater than Anmol and Ashish.

Choose the correct answer from the options given below :

.A.B.D only
.A. C.Donly
.A.Bonly

.A.B. C only

FafRad @1 eIrgde ug iR -T2 4T 7 UEl & ST Qi

3Rfa=E, SRy, 3T SR SHUd F1® IR UIae| &1 [dedd ol o7 4 Uh
IO YR 175 919S B 9 IR 9164 Ui 0= 215 38 &, ot fBear i §. dfd
TS GO a7 30 Be/Ahs & | Hl 41aq 9ol 12 TSaieyu §d Sildvd 32 Pe/
U e2 T 91T ¢ | 3RTI< U ST 15 Y T3 315 61 6. o 1o 125
BT §. 3MRNY 100 Fe D HSal alet 9154 U TR &I I8 &, SHId 40 He &
20T aTdt oTe- Uy W a1 gl © 1R Afid 39 a6 &1 udl 77T & [0 $ad 10
e I AT aTd 16 0y IR <13 361 § 9l SU! Hie &1 o (JY) ¥ I |id
o1 A1 YTd- O o HIS & AJERUI Bl SFHA & & A fbe1 9t sawge
87 UE 98 99 §. O UYdi & ale- IR @id- &I Waul gial 41 39 = uy ¥
e Y T g

b =

=

EE NI R R e E IR 1

A. TG, 5T 39 &1 Wie- &1 Ugd BId1 7. 98 SFHE @1 ga-1 5 gewR ol

B. S, Sl S{THI I W4 I Ugw 8Idl 6, 98 ifUd Bi ol 4 gewR ¢ |

C. T, S 3RfG=< &f Eien &I ¥gd gidT &. 98 a9 ¢ |

D.ﬁﬁﬂ%@{fﬁﬁﬁ“@?ﬁﬁm@m%ﬂ?mﬁﬁaﬁw{mﬂwﬁwﬁ
FER el

=4 feu U fasedl & 9 981 SR &1 994 iy |

1. $dd A, B.D
2.PAAA. C.D
3. PAdA. B

4. BGA A, B.C

Al
1
A2,

2
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Objective Question

149147149 Read the following passage carefully and answer the questions that follow:

Four runners namely Arvind, Ashish. Anmol and Arpet have exactly the same
weight of 175 pounds. They are running on 4 synthetic tracks having different

radius with the same veloeity of 30 feet/sec?. The force of gravity on all the

synthetic tracks 1s considered to be constant 32 feet/sec?. Arvind is running on a
synthetic track which has a radius of 125 feet, Ashish on a track with a radius of
100 feet, Anmol on the track with 40 feet radius and Arpit on a track having radius
of only 10 feet to find out the force which pull them out of the lane at the turn or
how much force is needed to permit them to follow the turn of the track? This the
force that tends to pull or throw the athlete off his course when he is running.

Given below are two statements :

Statement I : When the radius of rotation of the synthetic or cinder track becomes
small. the magnitude of the centrifugal force increases.

Statement IT : To offset the magnitude of the centrifugal force the runner either
leans in towards the point about which he/is turning or runs on a banked path.

In the light of the above statements, choose the correet answer from the options
given below :

. Both Statement I and Statement II are true

. Both Statement I and Statement II are false
. Statement I is true but Statement II is false
. Statement I is false but Statement II is true

[ S

o
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FafafEd &1 ergde 9¢ 3R == Gy T vyl & S e

sRfawe. smefty, sFE SR it T1H® IR uas! &1 faega 3ie &3 U@
T HR 175 UGS §1 4 IR Y19 Ui R <15 W8 8. fomat B i . afam
TS GHMH 37 30 Fe/Ads ¢ | Tt 41a9 92l )R [S@Idyul 94 SfdXd 32 B/
Y2 g oIdl ¢ | SRA< T8 HHT 467 9y R ars 36T ¢, forat fw 125
e &, SN 100 e BT BIean a1d e gy IR &S 6T 8. SFHIT 40 e P
0 aTd eTa Uy IR 1S TeT © SR 2ffd 30 6 &1 uar aH & i bad 10
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SdT § a1 UG Uy & 1S & DI 3AMd & & oY foh a1 901 o
87 U8 98 99 ¢. ol UUdiie & ole- IR Wid &I Haul 81dT U1 39 0= 0y g
TET Y d dT o

T e Ry &

HY 1 : Sfd HIAH AT RIS UIe U BT 1 S 8 Al Tb-51d el & gRumH
T i< gl 8

PUFIL : U5 §d D YRUTH I G168 e (3HHee) & [T yrasd a1 df 39
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Read the following passage carefully and answer the questions that follow:

Four runners namely Arvind, Ashish, Anmol and Arpet have exactly the same
weight of 175 pounds. They are running on 4 synthetic tracks having different

radiug with the same velocity of 30 feet/sec?. The force of gravity on all the

synthetic tracks is considered to be constant 32 feet/sec?. Arvind is running on a
synthetic track which has a radius of 125 feet. Ashish on a track with a radius of
100 feet, Anmol on the track with 40 feet radius and Arpit on a track having radius
of only 10 feet to find out the force which pull them out of the lane at the turn or
how much force is needed to permit them to follow the turn of the track? This the
force that tends to pull or throw the athlete off his course when he is running.

Match List I with List IT

LISTI LISTII
. [Force tends to pull Ashish| I. B9.22 pounds
[Force tends to pull Anmol| II. 492 19 pounds
[Force tends to pull Arpit | II1 |123.05 pounds
. [Force tends to pull Arvind| IV |39.375 pounds

vl o] [>=] F=2

Choose the correct answer from the options given below:

1.A-I. B-III. C-II. D-IV
LA B-I. C-II. D-IV
J.A-IL B-III, C-I. D-IV
4. A-IV. B-III, C-II. D-I

fFfeiad @ eryde ue SiR i< 13U 70 Uil & ST <o

3Rfawe, smefy, sF 3R Siftid F1He 91 Uae! 5 faepd die &1 U6
M YR 175 TS ¢ 4 IR HiaH 95U R &S 2 8. ot s fim €. afes
TS GO A7 30 Te/AdS ¢ | T €167 921 1R T3 a1yl §d $fdvd 32 T/
YHs2 GHI oIdT ¢ | 3RIGS U ST 9165 JU IR 515 61 8. o 9T 125
Be B, Y 100 Be 3! BT 4ia 9y R &1S 81 8. AHIE 40 Te P
oo aret e oY TR &S ¥eT © iR Hftfa 39 99 @1 gd1 7 & g Fad 10
e B FAST1 ATt 9Ta 7Y TR &S <61 ¢ Ot SHS! Als i o (9Y) § a6 Eid
<A1 A1 YTG U S HIS & TSR Pl SFHf & & g fob T 9 sawge
©? U5 9% 99 o, ol TYTIIE & Gls- UR @i & Haur glar o1 99 SO 9y §
TR YH T ST 3

Gt - 1 1Y gl - 11 BT FdH DI

A1 & 10
_|aa sm=in @l Wied @ ugd elarel | L |49.20 Udsw
_[&a s @t Wied @ gad sl o] 11 [492.19 USSH
901 31ftd @ Wigd @i ygd el o | 111 [123.05 TS8H
. |59 oRTa @1 @ie & ugd aidl & 1| IvV. [39.375 o959

i< fau U fadedl O 9§ Il 3R &1 98 DIfeg:

Ol ||

1.A-L. B-III. C-II. D-IV
2LAJIL B-I. C-II. D-IV
3.A-IL B-III. C-I. D-IV
4. A-IV. B-III. C-II. D-I
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